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0 7:05- 7:50 1f-7/7 |wf-dz|SG_2
1 8:00- 845 |4¢c/f-2/2 |j.ang |14|1g podr.w.port| 29 1f-7/7 |wf-dz|SG_2
2 8:55- 9:40 |4a/d-2/8|j.a.graf 14 2d1 |rel|1 |1f-7/7 |wf-dz|SG_2
x 3 9:50-10:35 3c/f-6/9 \wf-ch|SG_2
£ 4 10:55-11:40 |3e/d-1/7 |j.a.aw |14)|2g/h-1/7 p.org.port |29 3c/f-6/9 |wf-ch|SG_2
S| 5 11:50-12:35 2g/h-1/7 | p.org.port |29 3c/f-6/9 | wf-ch |SG_2
O 12:45-13:30 2b/c |rel |32
7 13:40-14: 25 delg wych 29
8 14: 35-15: 20 3b/g|rel|19
9 15:30-16: 15
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3e/d-1/7 | r_fiz | pf 1a/i-1/2 |el.i.eln pfl|{2d1-1/2 |j.ang |13
3b/g-1/7 | r_fiz|pf|4b/h|j.pol|20|1a/i-1/2 |el.i.eln pfl|3h jang |13
3c/f-7/9 |wf-dz |SG_1|4a/d-1/8 |r_fiz| pf|3h |j.pol|20(1c/e-1/7 |el.i.eln elk [3b/g-1/2|j.ang |13
3c/f-7/9|wf-dz|SG_1|1g fiz |pf|3b/g|j.pol|20|2a/i-1/7 |masz.elektr elk
3c/t-7/9 \wf-dz|SG_1|3e/d-1/7 | r_fiz|pf|3b/g|j.pol |20 4e/g-1/8 |j.a.aw |SITA
2ali-6/7|wf-ch|SG_1 4a/d |j.pol |20
2ali-6/7|wf-ch|SG_1 4a/d |j.pol |20
2ali-6/7|wf-ch|SG_1
datowicka 35 [ P 2017 czwartek.pla - 2017-09-06 ]
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4e/g |mat|pm 1a/i-2/2 |dz.st.oper |2
2e/d |/mat|pm 1a/i-2/2 |dz.st.oper |2
2d1-1/2 | cyfr.techn.g| Pl4|2a/i-2/7 |wsp.st.oper | 3
4c/f-2/8 | tech.multi| pfl 2d1-1/2| cyfr.techn.g| Pl 4|2a/i-2/7 | wsp.st.oper |2
4c¢/f-2/8 | tech.multi | pfl 2d1-1/2 | cyfr.techn.g | P14
3c/f-2/9 | proc.foto |pfl
3c/f-2/9 | proc.foto |pfl
3c/f-2/9 | proc.foto |pfl
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1d-6/7 wf-ch|SG_1
3h-4/5 |j.niem|12|4c/f-1/2 |j.ang |19|1d-6/7 wf-ch |SG_1|1c/e|wos 11
3c/f-4/9 | j.niem |12 |4elg j.ang 25|1d-6/7 wf-ch|SG_1]|1c/e |hist 11
3d1-3/7 |j.niem|12|4b/h j.ang 30
4b/h-2/6 |j.a.telek |12 3d1 |hist.i.spot |11
4b/h-2/6 | j.a.telek|14 la/i |hist 11
4elg j.ang 12|2g/h-7/7,2d1-7/7,2ali-7/7 | wf SG 2
1g-4/6 |j.niem|12 2g/h-7/7,2d1-7/7,2ali-7/7 |wf ~ |SG_2
29/h-7/7,2d1-7/7,2ali-7/7 |\wf | SG_2
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2b/c-2/5 |komp.ws.proj | P13
4a/d |mat|30|2b/c-2/5 |komp.ws.proj | P13|2d1-2/2 |j.ang |32
1g |mat|30|2b/c-2/5 | komp.ws.proj|PI3
2e/d|pp |29|3e/d-1/7 |tech.i.kon.m | pfl 3b/g-2/2 |j.ang |32
4c/f-1/8 |ukt.cyfr 1 |1d |mat|30|4b/h-1/6|proj.komp |PI3|4a/d-1/8|j.a.el 32
1g |geogr|19|4c/f-1/8 |ukt.cyfr 1 |[1f |mat|30|4b/h-1/6 |proj.komp pf2 (2b/c j.ang |32
1f |geogr|30|1c/e-2/7 |p.t.i.k.m 1 3c/f-1/9 |komp.ws.proj| P14
1f |pp |30|1c/e-2/7 |p.ti.k.m 1 3c/f-1/9 |komp.ws.proj|Pl4|2b/c wych |32
2e/d-2/7 |j.ang|32
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2b/c-1/5|pr.eln |eln
29/h-1/7 | eksp.sr.tr|1 2b/c-1/5 |pr.eln|eln
4c¢/f |j.pol |31|4a/d-1/8 elenerg |28(2b/c-1/5 | pr.eln|eln
29/h-1/7eksp.$r.tr|1 |1g |j.pol |31|2a/i-1/7 |energoel |28|2b/c-1/5 |pr.eln|eln
2e/d|j.pol |31 2b/c-1/5|pr.eln |eln
4e/g-2/8 |proc.mag |28 |2e/d|j.pol [31|4a/d-1/8 energoel |2
3b/g-2/7 |eksp.$r.tr |28 |4c/f |{wych 31
3b/g-2/7 | eksp.sr.tr|28 |3e/d|j.pol |31
1cl/e-2/2 |inf PI1
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29/h-2/7 | pom.eie.tk |mier 2f-1/2 |cyfr.obr.obr | CKP_2|4b/h|mat|10
2g/h-2/7 | pom.eie.tk |mier 2f-1/2 |cyfr.obr.obr|CKP_2
29/h-2/7 |pom.eie.tk |mier|1f |biol [25(2f-1/2 |cyfr.obr.obr|CKP_2|la/i imat|11
29/h-2/7|pom.eie.tk |mier|1f |chem| 25 la/i {mat|10
2g/h-2/7 | pom.eie.tk |mier|1d |biol |25 2f |mat|10
3h eksp.c.ktk |eln |1g |chem|25
3h eksp.cttk |eln [la/i|biol |25
3h urz.tk.w.s.m|eln
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3d1-2/2|druk.cyfr |PI1
3d1-2/2 |druk.cyfr |PI1
3d1-2/2 |druk.cyfr  |PI1{3b/g-2/7|r_geogr |18
2d1-2/2| cyfr.techn.g| Pl 2|4a/d-2/8 | r_geogr 18|2b/c-2/5|p.teleinf| P13
2d1-2/2 | cyfr.techn.g| Pl 2| 2f r_geogr |18|2b/c-2/5 | p.teleinf| 28
2d1-2/2 | cyfr.techn.g| P12 3d1 r_geogr [18|3h r_inf P13
3d1-2/2 | druk.cyfr  |PI1(2e/d-2/7 |r_geogr|18|1c/e-1/7 |p.teleinf| PI3
3d1-2/2|druk.cyfr |PI1|2e/d-2/7 |r_geogr 18|1c/e-1/7 |p.teleinf|PI3
3c/f-1/9 [UTK  |Pl4|1c/e-1/2 |inf| P13
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3d1-1/2 |druk.cyfr P12
3d1-1/2 |druk.cyfr P12
3d1-1/2 |druk.cyfr |PI12
3e/d-2/7|druk.cyfr | PI1{1c/e-2/7 |bud.st.p |2
3e/d-2/7 |druk.cyfr |PI1
3e/d-2/7 | druk.cyfr|PI1
3b/g-1/7 | p.autom | mier |3d1-1/2 |druk.cyfr |PI2|2e/d-1/7|obst.st.p|2|2f-2/2 | cyfr.obr.obr | CKP_2
3b/g-1/7 | p.autom | mier [ 3d1-1/2 |druk.cyfr |PI2|2e/d-1/7|obst.st.p|2|2f-2/2|cyfr.obr.obr| CKP_2
3e/d-2/7 | druk.cyfr|P12|2e/d-1/7 |obst.st.p |2 [ 2f-2/2 | cyfr.obr.obr | CKP_2
3e/d-2/7 | druk.cyfr|PI1
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2ali [rel|av
2ali |j.pol |10(3e/d |rel |av 3c¢/f-3/9 |j.niem |19
1d |wok |10|4e/g |rel |av 3d1-4/7 |j.niem| 19 Ac/f |mat| pm
4elg|j.pol|19(3h |rel|av 4a/d-2/8|masz.i.urz.c|13|1c/e |mat|pm
1cle |rel |av 4a/d-2/8 |masz.i.urz.c{13|2a/i imat|pm
4b/h|reljav|1d hist |111a/i wych |19 3e/d |mat| pm
4b/hirel jav|1ld|wos |11
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